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Intro Quiz 2.2 and 2.4 Examples

X Q}(' 1) A graph of a function f is shown below. Find f(0).
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\ e t 2) Agraphof afunctionfis shown below. Find f(2).
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\f-k 3) Determine whether the grap’)h is fhe graph of a function. Answer with function or not a function.
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Determine whether the graph is the graph of a function.
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\QL;' 6) The graph of a function f is given. Use the graph to answer the question.

What are the x~intercepts? (~‘{, \/)
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Match the graph to the function listed whose graph most resembles the one given,

1
\ o

A) square function
C) linear function

8) Graph the function.

B)-recipreeal-
D) absolute value function ____——
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\ et 10) Find the pet change for the function between the given values. ; (SC )

f(x) =2x-4; from1to2
X( X2

f(x) =x2+3x; from1to6

Y
35{):-20)- v=2 J2) = 2¢)-4 =9
$
\?L 11) Find the average rate of change for the function between the given values. O~ (- 1) '=@

\9% 12) Find the average rate of change for the function between the given values.

f(x) = Jﬂ; from2t08

i " . ~Jay =4
F@D>ham =2 F2E=A

2 ?* 13) Along with incomes, people’s charitable contributions have steadily increased over the past few yearsm

below shows the average deduction for charitable contributions reported on individual income tax return
the period 1993 to 1998. Find the average rate of chan
T —

Year|Charitable Contributions

1993 $1660
1994 $2350
"—-—'_——-—.:.

a9 so50>
1996 $27
o1 s3>
1998 $3120
A) $330 per year

30O ~ 2800

“-——_.________-—-
%9 21995 -

B) $510 per year

-_
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ge between 1995 and 1997.

1997 {
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- =138

C) $255 per year ° D) $310 per year
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Intro Quiz 2.2 and 2.4 Examples

g

\ P¢ 1) Agraph of a function f is shown below. Find f(0).
Tr—
7
(-09,2.64
EREERY. 4 5x
(-14,-1.824)
AT e 2.7, -3.587)
54
U:{ 2) A graph of a function f is shown below. Find f(2).
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3) Determine whether the graph is the graph of a function. Answer with function or not a function.
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Determine whether the graph is the graph of a function. \'z - (Vﬁf 4. 14 n¢ 'f”(f’jd_
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6) The graph of a function f is given. Use the graph to answer the question,
\ P{: What are the x-intercepts?
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Match the graph to the function listed whose graph most resembles the one given.

7

LRL

) reciprocal function ———
D) absolute value function

A) square function
C) linear function
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77 ()ES . 9) Graph the function{
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\? L 10) Find thor the function between the given values. ..):L

f(x)=2x - 4; 2 = ==
(x)=2x-4 fromklto)(z J(O 2¢1)-4 ZJC?—)=‘ 200 Y =D

\ tx 11) Find the average rate of change for the funclion between the given values. 2

. g O Slope. O~ 1
f(x) = x2 + 3x; from 110 6 (,)..y’-.f J(E):(é;) ¢3¢c) ..".'S‘( 5({ iy So
\?L 12) Find the average rate of change for the function between the given values. >’2-
f(x)=J2—x: from2to8 J(ZJ:J.?[Q bilf@:-\/zzg) G- o
= ry=a o =4 gz @
-LPEM 3) Along with incomes, people’s charitable contributions have steadily increased over the past few years. The table

below shows the average deduction for charitable contributions reported on individual income tax returns for
the period 1993 to 1998. Find the average rate of change between 1995 and 1997.

Year|Charitable Contributions x ( X2 Xy — i - Z
1993 $1660 go(o . Soco
1994 $2350

_— - S
yr% $25000 Y ¢ }'q7; —(GIQ&- - T e 235
¥, Crlsanig) Y2

1998 $3120
A) $330 per year B) $510 per year

C) $255 per year D) $310 per year
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